Penthouse in Paola



Reference No: 240061007-7142

Paola, South



€329,600

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 123

P☐ Bedrooms: 3

Penthouse - For Sale - Paola

PAOLA - APARTMENT - 3 bedroom apartments situated in a great area in Paola. Layout comprises of an open plan kitchen/living/dining with a front balcony, main bathroom, laundry/box room & 3 bedrooms main with en-suite. All units are served with a lift & being sold in shell form with optional finishings at an extra cost. Call now for an immediate viewing.

Features

Rooms

✓ Kitchen/Living/Dining: 4.5 x 5 m (22.5 m2)

✓ Double Bedroom : 3.4 x 3 m (10.2 m2)

✓ Double Bedroom : 4.5 x 3.2 m (14.4 m2)

✓ Double Bedroom : 4.6 x 3.6 m (16.56 m2)

Bathroom: 1.98 x 1.9 m (3.76 m2)

✓ Shower Ensuite : 2 x 1.5 m (3 m2)

Open Space : 1 x 4 m (4 m2)

Open Space : 4.5 x 3 m (13.5 m2)

Gallery





RE/MAX Superior - Fgura RE/MAX Superior - Fgura

M: 23910000

E: fgr@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta